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QUIZ Chapter 3 Part 11

1. Fill the following table:

Quadratic function y=3(x—4)?%*+5 y=-2(x+1)*+4
Orientation Jpax ad downward L
: |
Axis of symmetry n =\ x= | -
Vertex qu S) (_\I Lt‘) 3
Number of zeros PN E -l |
—
y-intercept 55 o \
/"'
X 5 6 7 X 0 1 U
Table of values 7
y ? [ | 32|V 2 |-4% [-WH _

2. List the transformations that you should apply to the graph of the reference function y = x* to
obtain the graph of y = —2(x —3)? + 5 and do it on the grid below.
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3. Determine the equation of the following function:

vertzy . (—Q\ -S) =D aﬁ = &.[1-&9_\2‘_ S

pet\i : (D, ?)) =P 3= 0;(0-\—952-— 5
3 = Wha
o= &L

- 4 a(ua\’-fsj
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